TOURNEY Front Derailleur

FD-TY601

2
o
£
g
ITEM SHIMANO INTERCHANGE-
NO. CODE NO. DESCRIPTION ABILITY
* 1 Y59L19800 Mounting screw (M5 x 21.3) for band diameter 31.8 mm
Y2JG00070 Mounting screw (M5 x 29) for band diameter 34.9 mm
2 Y5YU98010 Cable fixing nut and bolt (M5 x 9.8) A
3 Y2JD98010 Stroke adjust screws (M4 x 13) and plate B
A: Same parts.

B: Parts are usable, but differ in materials, appearance, finish, size, etc.
Absence of mark indicates non-interchangeability.

Jun.-2023-4882A
© Shimano Inc. T

Specifications are subject to change without notice.

SHIMANO



